banb ) [Freehi] EEEE 6
. g = (http://net-banba.com : _
(B) ®IL  %22E6HE RBHOLIFARRFY 50— (http BRBIEDRE CEABEBSENELN L W’
2020/02/03 i =BS5S | 2oomxcnris, SoRoEnaElEE v
e 1735 A 2 3 BXYIN—155BEDEN U CaIE D ICEIR
- 9000
@ 190000  @53000 @ 26000 AL LN 10R
Z e e SE [ Fh e KH | BSH| KM | 255 | E55 :
SHso2 1 5ERT 2 AT SEM s %gus% 1279 2R 91 1 D | D A|[C | D SN Y AR5
= S Al 12/28° 9R _ OF 8& 7 AN -3 0 3 —
BELEE Hﬁ%ﬁ E I R L B ) PR R0k | A?g &S P RMIn 3t BN, AMAETEE | coM 9 2 8 3 5
R CES \ / ] 6% 3
Brtorvay HEOB WL23 680K it~ 9 21$/2 86805 b 4 otia R 8 %?%}[ R o Rt B < s 51
" ﬁ);?j:)? B EX o 2'29'3 o w105 —sot ! 308 SRR sk 1230 10K b T%@ZR' #1501 B c | B | B =
= ; ERF ] 28.3 TSvOIIH— T 12/2 23, R 32 - :
T et i azs T T o A5 AR o0k mA| o g O dook [ S| BE LTS RN ERORUS | BEE 6 3 8 2
L= : > - 3 .0/ =
aonis HOR | Cweed Pt 8 12122 0058 6 2182 Wi m i, 7 g0k O AR
AN N . . - ] =5 231,
z|zoaa ‘EJ‘JSU—J:\;E 6 2102 S ] 5.0 9 5E oy ] 197 T R Al Sl %31 B[ B[ C|[A]D iRiE
EANE p FA| 8.7 TJSyHHYY— [FEFA| 9.9 — 12/28 _ 9R N1/ -3 [E—
snme 710 B2 g7 SR A0 T Ak H1Z TRTOF 3 AN oD mrl i A2-3EE " TIAZ3 T T s —
RiARGL2TI7AE Ll 280| A2-3 N ]194 A 16% 700K EXED 1.6% 700K PaI&RE 4 690K 5 690K [[92 | 14 w5 i e % 6 8 8
BYLTIIY 2.0% 700K iERiD 6% 3 = @ 8 16 , 259 EED BTEBE (a0 | 20n | 6267 H3RNIE FATEATEE == 8 8
F 1 o 7=8 | 2 12032 3 2116 45" 23\50 FRO || PR | 2w 20
S il e BR [ 218 R o ] 09—t 131 T e b S s TR wo €l c[ ¢ A D | & NN NN
v E B FEE| 13.3 TSvOy Y= | % 9 = SAT13 7R 2 s =7
imf?&""’zﬂiifi "5l S N o and T zio,‘,fg BUAES 1 00k wl A273 Tl 7 bjég%k ot 16| BRSO ER BT, P AR 10 6 3 32 9
75 A w 65 -2 + 35 Joi X 20% 700K #HAKE . @ ~ & 70 : BTt L CHEDIAB )
Et:xg%\\/ L 1.4% 700@I‘§ «%%9) 5 209.8 35@ -~ ®64 4 2.15.5 38/ 19718/ - ?—é’%ﬁ% S Z%%*g 3% 0% |NRGEITUTHEDA - -
Y AT R DD o I o DS e TR TR T2 8 88| 8| =
s 710 S O [EREA|21.4 *Y — 3R 10r 6% ok 1372 RPN JIALR N e — 53
HrfeF 9RTOF 5% TAT 172 1056| A2-2 : 0% 21 [(T47 2 [ SEARINERL. ERRNICE | | g 8
Rma—Fy7 3123 1712 1060| A2-3 | 19% 700K SE2@E 2. 50K [76 T 70 |BEECASEAH !
Bx=nirey HOM 0NAZZ 700K R 21808 2700@5 B 2063 WG, S | gk géé%gﬁ P e i B, v
— —_ - .JO. KN &FER] 2.76.
505 A 1;9 D7 BTZI? e 8 2.26.3 sy D 12002 o0Tn| O 131 Ao ens [EERR 219 [EATR. 2066 T eclcl]c[c|E | & ‘ 8 6 3
R 710 P8 E ®ATEN| 24.7 v - S R T0F 3% TA[1/2 5 BY A 12485 - —
s 0 =0 A gl R -3 e 4 S S A P ——— 3 v
51053577 #wTm a0 SR N oy anl % 700K BAE S 16% 700K HAE 630k | D | e8ok |2 14 ﬁuﬁ(iﬁ&%@tiﬁjr?ﬁ‘a‘:ﬁ\ s 2o
Nt =1 ) %% B 3 2086 B2 4 9063 36 7T 89 BAE ] PAE | 170 20w | . 2ERISEOCOA 15 8 6 3
#18| OO ZLAT YA [ S A ] 11 7595590 [l 4.0 :%};—\4)& 1205 ToR TR T2/1 8RS 20 B|D|A|B|B R
avie 710 BA B wwswlig) w78 ol SR AOF 2 TA12/%8 —9R e (| ABTEE ¢ ABD O SR 3 S s ER
T el LN e e P2 BARS T m o0k | 10| dsgk 85 is xmms s mmTEGE, mER XM
X ) = o - 6% B
B rezsza_yy TLOM - 439 A2-3 2.0% 700(15 E%_ 1 O 212"8 9700(15 E"% 9 2376 % 9 %?%)E éﬁé%—o 3% | 10% | FBETREELL
- - 259 1 EEEH] 2.30,
T BT R 1018017 ab g, 10/2489 .8 55, O o WY s e (s o558 66366
B 710 B W= mEsw 662 ySuoyvo- |WETH 9R 10F 8% 4K[1/2 1090/ 81 = 1-4385 . N
R 7 1719 9R 10F 2% TA| 1/12 1085| A2-3 = 1.4% 1.8% [36 ] 7 BEENAOL —AR0ERE | fE=57 NN NN N
RANSH— i 7es 32?2 A2-2 « 3REE ALBE _ 1085| A2-3 700K FEHA 1.6% 700K FEIFA 2 690K 3 680K 8415 - :
B HORS 14% 700K #EIFA 2.0% 9-5 3 2048 0@ T A BRA 07 % | THEICTOTHDIASE 10 4
P ' @ = @ 0 37 63| = |EEA| Wy 21 8% 388 2
8 ACARDEZAFAVMN 4 12089 5% in 27'28'35%11 EFEE| 25 :%E\M To/25 SR TH 1017 SN SR I 0 g | B[ B | A[B | _
iaex 710 B BK ewwni o Tor 108 TA | 12/25 9K OF 0% k106 GR JTan 0BT S T AL b 50 R ———— L
8 naek L 3077] _1/20_10R 10F 10% -3 20 HOR | _1092|B1-48E 51 L 7 1.5% HEIEE S CRNCENT. EEAR
8 o35 H10M VB LA RF e 0k e 70 0% SR ] eadk | 7| esok 1o 55 T & 3 8
=3 > 23 700@':3 «i—%%% 5 21 '1é 5 ,8-@® 8 2.15.3 3% 5% Zijth— éﬁﬁ)ﬁé 33% 0% |NBGEREEDINNIE 3 6
o8 AT R e B O as a8 2530 B g T W
= Z = vy g— .
Hewe 710 85K BN lerew 144 N E%RAZS_'AQ,SR%;% = 6l 3ls
Biks : 1.4% $L/u$;?‘I:F) 73)55;?3 S v
W E WOIR TR R T EE]  BE — BEE 1.59.0 1AL 3
20k [ 1/2 TR 8% | 12/29 9R 14% oA 17 ¥V 9194 — 695 EHHE 18 382 4
E 1/19 9R  1.4% 1/12 9R ] -4 A2-3 F2[E FORE A2-3 BT - po 6
=|® & S\E B BT A2-3 A2-3 3 — : 2 10 75w o5 YY— 700 E@= 1.59.8 3A
7|5 HEE sl 2 m|p|=]| re2s i _ 580 EE= 4 68 %4?33 8 2.35% _ p= =
BB 5] [®] 6 2.29 ,8 9 2.12.8 70%-1%;2“& - EAE 3 8 FAH—wWOIHAHS 705 hUE 2.06.3 4A
1[1|{AFH5 O A 5 703'10';2§¥F s 0 5 6 70%.1%§W 2.1;1.4‘D Bl oo R 700 mEE 2.089 TAS
2|2 |kyyan=vX (0] o|© = 708'1‘;1'8"“\ 5 0 B3 i 3 70%.1%1@ 4 2.10.1 R 700 BEE 2102 AR
3|3/F7vyanay A o T _EAn o 2'0'91;3 7 2.20.3 6 5 Torow/s 700 WER 2.10.9 GAM
AR A 2.20.4 s 708'2?§;§EW%E - 7 6 YLrFrUaD 700 @FEAE 2.17.1 S5AR
5|5k botr—h— 7 00 BEFE| 5 2'0?6 RTWZ)—OE»E?I&' 1 699_5%‘?9 . ®—|lg 1 0130/9/H5 705 EkL 2.18.1 2A% —
* ; ) E B = nilyMart \'' g T
6|6 (YILATYaD (o) 2.17.1 10 700 O%ﬁﬁ;—m_ 9 2.37.6 9 2.52.1 900 oY soamF 700 BEE  2.20.4 SA& ‘r@,ux Fouoa = ,'-6".'""
- S TEFA| 5 690 FEHA
707/ FEZNS 42— | © 0 0y mEK | 4 1) EEK| g 700 EEA 5 60 W S oo 05 BAE BA Am| | oemmem
8|hy A FH Ut © A4 "2.089 . 5 19 BF
MO EEZIE A °




